H

Parts
D Clamp D Coolant bolt
Geometry Designation — bDlmer‘lsswnsd angle Geometry Designation D'Te”s'g”SBm -
CGH6R1 | 223 119 232 25 CBALOOINIMM | M16 @54 @43 47 14 (32)
CGH6R2 | 232 119 232 34 CBA100-IN-25.4 | M12 @44 @36 415 10 (25)
CGH6R3 | 240 119 232 42 CBAISIN | M20 @65 @54 56 17 (38)
CBAIZSIN-54 | M12 044 (36 435 10 (25)
5 w |CBALBMM | M20 065 @54 57 17 (3)
1 [CBAIBON | M24 @83 @73 56 19 (38)
CHH35R1 75 67 13 245 | [CBALGOMM  |M20 @83 @73 53 17 (34)
CHH45R1] 7.9 785 141 254 o ° = [P [ w16 050 088 @86 1i_ ()
CHH55R1| 98 10 164 4 g CBPI00N-254 | M12 44 @36 465 10 (25)
CBPIOO-MM-L | M16 @50 @43 486 14 (36)
CBPIZIN | M20 @65 @54 56 17 (38)
CBPI5IN-254 | M12 44 @36 55 10 (25)
CH4RL | 74 5 141 31 CBPIZSMM | M20 065 @54 57 17 (35)
CH5R1 | 100 66 202 45 CBPIZMM-L | M20 @61 @54 656 14 (33)
CBPIGOIN | M24 @83 @73 56 19 (39)
CBPI6O-MM | M20 @83 @73 53 17 (34)
CH5R2 | 685 7 138 2 D Wrench bolt
CH6R2 885 87 165 2 _— Dimensions
CH6R3 | 118 10 23 42 Geometry Designalion | L
SBOS25 | 13 6 8 25 MOBx 125
SB1025 | 16 8 10 25 M10x 150
—__~"  [sB1035 | 16 & 10 3 MI0x150
CMH5R1 | 185 79 16 626 @ Al i ] |sB1230| 18 10 12 30 M12x175
CMH6R2 | 200 11 175 138 mralll SB1630 | 24 14 16 30 Mi6x20
CMH6R6 | 185 7.9 16 6.26 ¢ SB1645 | 24 14 16 45 MB6x20
CMH6R1 24 85 165 8.28 SB2040 30 17 20 40 M20x25
CB1025| 13 6 8 25 MO8x1.25
CMH6R3 20.0 11 1751 CB1025 16 8 10 25 M10x1.50
CMH6L3 | 200 11 1751 CB1035 | 16 8 10 35 MIOx1.50
CB1230 | 18 10 12 30 Mi2x1.75
CB1245 | 18 10 12 45 Mi2x1.75
CB1630 | 24 14 16 30 M16x20
CB1645 | 24 14 16 45 M16x20
CS5R1 | 68 7 145 2 CB2040 | 30 17 20 40  M20x25
CS6R1 | 88 85 181 27
CS8R1 | 118 10 23 42
D Lever
CTH6L1 | 235 12 254 1435 L Dimensions
CTH6RL | 235 12 254 1435 Geometry Designation ——¢— ¢ 4
CTH6R2 | 2178 129 3122 17.33 a LR10 34 108 1.7
- LR12 37 135 134 35
b LR16 475 187 183 43
d LR20 59 205 187 555
b o d, |CVH3 21 1 588 77 g o LR25 735 2425 237 62
| ! T (= (CvHv | @ 14 7 8 " LR32 845 297 2695 19
. £ CVH4 255 145 6 7 a LV2 26 175 6 21
CVHS 0 17 75 95 i LV3B 31 10 95 37
D |CvHs 335 185 8 10 . LV4B 47 1455 156 47
g LV4BN 47 16 149 468
. b CXH8N | 101 100 175 -
— LV3 37 10 12 36
¢ = LV3N 375 10 12 355
w LV3AN 375 121 114 464
— . LvaC 31 10 785 36
LV3CN 32 10 78 36
) Coolant bolt — LV3DN 32 1165 95 355
P— b LV4 47 1455 14 47
Geometry Designation Dimensions : o | LVAN 47 1345 132 468
5 ‘ a_b_c_d B0 4 e | |Lvs 6 171 17 6
a(a) CBA063-3INIMM | M10 @25 @16 37 8 (27) LVEN 6 164 1708 59
IS CBA0G3-4INMM | M10 @25 @16 425 8 (27) LVEAN & 1882 173 595
b CI b CBAOBOINIMM | M12 @28 @18 455 10 (32) LVeN L T
L= CBPOB3INMM | M10 @22 @16 386 8 (27) LVaN 66 as 54 86
d CBPOSO-INIMM | M12 g5 @18 486 10 (32) :






